Value

Parameter Constraint
CLN fit BGL fit

V| [1073] 41.4+1.3 423+ 1.4 free
G(0) 1.102 + 0.034 1.094 +0.034 1.07 £ 0.04
pA(D7) 1.27 £ 0.05 1.23 £0.05
dy - —0.017 £ 0.008 —0.012 £+ 0.008
do —0.26 £ 0.05 —0.24 £0.05
ha, (1) 0.899 £+ 0.013 0.900 +0.013 0.902 + 0.013
p*(D*™) 1.23+0.17 - free
Ryi(1) 1.34 £0.25 - free

Ry (1) 0.83 +0.16 - free

ag - 0.037 = 0.009 free

a - 0.28 +0.27 free

by - —0.06 £ 0.07 free

c1 - 0.0031 + 0.0023 free

BY mass [GeV/c?]
D7 mass [GeV/c?Y
D~ mass [GeV/c?]

0.0191 +£ 0.0008 0.0191 + 0.0008
0.00993 £ 0.00024  0.00993 £ 0.00024

0.323 £ 0.006 0.323 £ 0.006
0.0228 £ 0.0010 0.0230 = 0.0010
0.0507 £ 0.0014 0.0506 £ 0.0014

5.36688 & 0.00017
1.96834 £ 0.00007
2.1122 4+ 0.0004

5.36688 £ 0.00017
1.96834 £ 0.00007
2.1122 + 0.0004

0.0191 £ 0.0008
0.00993 + 0.00024
0.323 £ 0.006
0.0231 4+ 0.0010
0.0505 £ 0.0014
5.36688 £ 0.00017
1.96834 4 0.00007
2.1122 + 0.0004




